COUNTY OF LEXINGTON

Procurement Services

212 South Lake Drive, Suite 503 Lexington, South Carolina 29072-3493

> Phone (803) 785-8166 Fax (803) 785-2240

STATEMENT OF AWARD

SOLICITATION NUMBER: C15002-07/30/14S

PROJECT TITLE: Electronic Waste Transportation and Recycling Services

AWARDED TO: Electronic Recyclers

AMOUNT OF AWARD: \$23,890.00

DATE OF AWARD: August 14, 2014

Thank you for your interest in doing business with Lexington County.

Angela M. Seymour Procurement Officer

Posted: August 15, 2014

THIS IS NOT AN ORDER

DO NOT SHIP PRIOR TO RECEIPT OF PURCHASE ORDER.

County of Lexington

Bid Tabulation

BID # : C15002-07/30/14S

Electronic Waste Transportation and Recycling Services

				USB F	Recycling	Synergy Recycling		SAMR, Inc.	
Item	Qty	U/M	Description	Unit Total	Total Cost	Unit Total	Total Cost	Unit Total	Total Cost
1A	40,500	LB	PC'S – INTACT	-\$0.15	-\$6,075.00	-\$0.33	-\$13,365.00	-\$0.15	-\$6,075.00
1B	0	LB	PC'S – INCOMPLETE	-\$0.04	\$0.00	-\$0.21	\$0.00	-\$0.07	\$0.00
2A	1,500	LB	LAPTOPS – INTACT	-\$0.15	-\$225.00	-\$0.65	-\$975.00	-\$0.15	-\$225.00
2B	0	LB	LAPTOPS - INCOMPLETE	-\$0.04	\$0.00	-\$0.45	\$0.00	-\$0.07	\$0.00
ЗA	50,600	LB	CRT MONITORS – INTACT	\$0.18	\$9,108.00	\$0.12	\$6,072.00	\$0.12	\$6,072.00
3B	0	LB	CRT MONITORS – BROKEN	\$0.18	\$0.00	\$0.12	\$0.00	\$0.12	\$0.00
3C	0	LB	CRT MONITORS – HARVESTED	\$0.20	\$0.00	\$0.25	\$0.00	\$0.12	\$0.00
4A	5,500	LB	LCD MONITORS – INTACT	-\$0.02	-\$110.00	-\$0.10	-\$550.00	\$0.12	\$660.00
4B	0	LB	LCD MONITORS – BROKEN	\$0.00	\$0.00	\$0.10	\$0.00	\$0.12	\$0.00
4C	0	LB	LCD MONITORS – HARVESTED	\$0.00	\$0.00	\$0.25	\$0.00	\$0.12	\$0.00
5A	350,000	LB	CRT TV'S – INTACT	\$0.10	\$35,000.00	\$0.15	\$52,500.00	\$0.12	\$42,000.00
5B	0	LB	CRT TV'S – BROKEN	\$0.20	\$0.00	\$0.15	\$0.00	\$0.12	\$0.00
5C	0	LB	CRT TV'S – HARVESTED	\$0.10	\$0.00	\$0.25	\$0.00	\$0.12	\$0.00
6A	29,400	LB	NON CRT TV'S	\$0.00	\$0.00	-\$0.10	-\$2,940.00	\$0.00	\$0.00
6B	0	LB	NON CRT TV'S – BROKEN	\$0.00	\$0.00	\$0.10	\$0.00	\$0.00	\$0.00
6C	0	LB	NON CRT TV'S – HARVESTED	\$0.00	\$0.00	\$0.25	\$0.00	\$0.00	\$0.00
7	6,000	LB	PRINTERS	\$0.00	\$0.00	-\$0.03	-\$180.00	\$0.00	\$0.00
8	350	LB	HARD DRIVES	-\$0.10	-\$35.00	-\$0.65	-\$227.50	\$0.00	\$0.00
9	136,500	LB	MISCELLANEOUS	\$0.00	\$0.00	-\$0.03	-\$4,095.00	\$0.00	\$0.00
10	12	М	Trailer Rental (2 Trailers)	\$0.00	\$0.00	\$0.00	\$0.00		
11	6	М	Events	\$0.00	\$0.00	\$500.00	\$3,000.00	\$5,000.00	\$30,000.00
12	52		Transportation	\$150.00	\$7,800.00	\$450.00	\$23,400.00	\$1,750.00	\$91,000.00
			Total		\$45,463.00		\$62,639.50		\$163,432.00

				Strickland Electronics Recycling.		Electronic Recyclers	
Item	Qty	U/M	Description	Unit Total	Total Cost	Unit Total	Total Cost
1A	40,500	LB	PC'S – INTACT	-\$0.15	-\$6,075.00	\$0.00	\$0.00
1B	0	LB	PC'S – INCOMPLETE	-\$0.10	\$0.00	\$0.00	\$0.00
2A	1,500	LB	LAPTOPS – INTACT	-\$0.15	-\$225.00	\$0.00	\$0.00
2B	0	LB	LAPTOPS - INCOMPLETE	-\$0.10	\$0.00	\$0.00	\$0.00
ЗA	50,600	LB	CRT MONITORS – INTACT	\$0.14	\$7,084.00	\$0.00	\$0.00
3B	0	LB	CRT MONITORS – BROKEN	\$0.14	\$0.00	\$0.00	\$0.00
			CRT MONITORS -				
3C	0	LB	HARVESTED	\$0.20	\$0.00	\$0.00	\$0.00
4A	5,500	LB	LCD MONITORS – INTACT	\$0.00	\$0.00	\$0.00	\$0.00
4B	0	LB	LCD MONITORS – BROKEN	\$0.00	\$0.00	\$0.00	\$0.00
			LCD MONITORS –				
4C	0	LB	HARVESTED	\$0.00	\$0.00	\$0.00	\$0.00
5A	350,000	LB	CRT TV'S – INTACT	\$0.14	\$49,000.00	\$0.00	\$0.00
5B	0	LB	CRT TV'S – BROKEN	\$0.14	\$0.00	\$0.00	\$0.00
5C	0	LB	CRT TV'S – HARVESTED	\$0.14	\$0.00	\$0.00	\$0.00
6A	29,400	LB	NON CRT TV'S	\$0.00	\$0.00	\$0.00	\$0.00
6B	0	LB	NON CRT TV'S – BROKEN	\$0.00	\$0.00	\$0.00	\$0.00
6C	0	LB	NON CRT TV'S – HARVESTED	\$0.00	\$0.00	\$0.00	\$0.00
7	6,000	LB	PRINTERS	\$0.00	\$0.00	\$0.00	\$0.00
8	350	LB	HARD DRIVES	-\$0.30	-\$105.00	\$0.00	\$0.00
9	136,500	LB	MISCELLANEOUS	\$0.00	\$0.00	\$0.00	\$0.00
10	12	М	Trailer Rental (2 Trailers)	\$0.00	\$0.00	\$500.00	\$6,000.00
11	6	М	Events	\$0.00	\$0.00	\$2,000.00	\$12,000.00
12	52		Transportation	\$0.00	\$0.00	\$0.00	\$0.00
			Subtotal		\$49,679.00		\$18,000.00
			Taxes			Supplies	\$5,980.00
			Total		\$49,679.00		\$23,980.00

	Qty	U/M	Description	eCycle	Secure	TeleCycle	
ltem				Unit Total	Total Cost	Unit Total	Total Cost
1A	40,500	LB	PC'S – INTACT	-\$0.20	-\$8,100.00	-\$0.41	-\$16,605.00
1B	0	LB	PC'S – INCOMPLETE	\$0.00	\$0.00	-\$0.20	\$0.00
2A	1,500	LB	LAPTOPS – INTACT	-\$0.20	-\$300.00	-\$1.10	-\$1,650.00
2B	0	LB	LAPTOPS - INCOMPLETE	\$0.00	\$0.00	-\$0.45	\$0.00
ЗA	50,600	LB	CRT MONITORS – INTACT	\$0.14	\$7,084.00	\$0.20	\$10,120.00
3B	0	LB	CRT MONITORS – BROKEN	\$0.50	\$0.00	\$0.20	\$0.00
3C	0	LB	CRT MONITORS – HARVESTED	\$0.25	\$0.00	\$0.20	\$0.00
4A	5,500	LB	LCD MONITORS – INTACT	\$0.00	\$0.00	-\$3.50	-\$19,250.00
4B	0	LB	LCD MONITORS – BROKEN	\$0.10	\$0.00	\$0.00	\$0.00
4C	0	LB	LCD MONITORS – HARVESTED	\$0.25	\$0.00	\$0.00	\$0.00
5A	350,000	LB	CRT TV'S – INTACT	\$0.14	\$49,000.00	\$0.37	\$129,500.00
5B	0	LB	CRT TV'S – BROKEN	\$0.50	\$0.00	\$0.37	\$0.00
5C	0	LB	CRT TV'S – HARVESTED	\$0.25	\$0.00	\$0.37	\$0.00
6A	29,400	LB	NON CRT TV'S	\$0.14	\$4,116.00	\$0.37	\$10,878.00
6B	0	LB	NON CRT TV'S – BROKEN	\$0.50	\$0.00	\$0.37	\$0.00
6C	0	LB	NON CRT TV'S – HARVESTED	\$0.25	\$0.00	\$0.37	\$0.00
7	6,000	LB	PRINTERS	\$0.00	\$0.00	-\$0.04	-\$240.00
8	350	LB	HARD DRIVES	\$0.00	\$0.00	-\$0.60	-\$210.00
9	136,500	LB	MISCELLANEOUS	\$0.00	\$0.00	-\$0.12	-\$16,380.00
10	12	М	Trailer Rental (2 Trailers)	\$700.00	\$8,400.00	\$0.00	\$0.00
11	6	М	Events	\$500.00	\$3,000.00	\$0.00	\$0.00
12	52		Transportation	\$0.00	\$0.00	\$0.00	\$0.00
			Total		\$63,200.00		\$96,163.00

**EcycleSecure submitted an "Alternate Bid".

**TeleCycle submitted an "Alternate Bid" but did not acknowledge amendment one.

Bids Received: July 30, 2014 @ 3:00 PM E.S.T.

Angela M. Seymour Procurement Officer